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Rl 7300] 6,800 500
P ik s400[ 7700 700
s 9500] 8800 700
PRl 2700 25500 200
hAHE it 3000 25800 200
7R 3500 3200 300
Rl 2100 1900 200
AT i 2400 2,200 200
s 2700 25500 200
_ PRl T000[ 1,000 0
= i 1200 1100 100
7R 1300[ 1,200 100
Rl 2100 1900 200
A2 = 2400 2,200 200
7R 2700 25500 200
_ PRl T000[ 1,000 0
hEEE it 1200 1100 100
7R 1300[ 1,200 100
R 2000[ 1800 200
a3 = 2300 2,100 200
7R 2600 2400 200
_ Rl 1,000 900 100
NSRS i 1100 1000 100
7R 1300[ 1,200 100
R T700[ 1,000 100
N4 = 1300[ 1200 100
7R 1400[ 1,300 100
Rl 1,000 900 100
INEE=S ia 1100|1700 0
7R 1300[ 1200 100
R 1,000 900 100
IPS £ ik 1100[ 1,700 0
7R 1300[ 1,200 100
Rl 1,000 900 100
fifE= i 1100f 1,000 100
7R 1300|1200 100
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= Fi& 3,900 3,600 300

wE 4,400 4100 300

Sl 1,100 1,000 100

1/*54%% it 1,300 1,200 100

& 1,600 1,400 100

A1 2,300 2,200 100

BEE Fi& 2,700 2,600 200

®[E 3,000 2,800 200
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RIREF = Fi& 3,100 2,800 300
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R IE] 2,300 2,200 100

Sl 2,400 2,200 200

BREFH=E2 F1 2,800 2,600 200

R & 3,200 2,900 300

TRRIZ2E(RA) 250 250 0

PEE)E TREICOT (BRE, KFE 200 200 0
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TRFEICOE (RREAELUT) 150 150 0
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